

Chp 6 The Filtering problem

Problem statement:

Given state-space model (SSM) [hidden Markov Model HMM]

state Model: $dX_t = b(t, X_t)dt + \sigma(t, X_t)dU_t$, $t \geq 0$ $b: \mathbb{R}^t \times \mathbb{R}^n \rightarrow \mathbb{R}^n$ - Lipschitz

observation Model: $dZ_t = c(t, X_t)dt + \varphi(t, X_t)dV_t$, $\sigma: \mathbb{R}^t \times \mathbb{R}^n \rightarrow \mathbb{R}^{n \times p}$ - linear growth.

Data: $(Z_s, 0 \leq s \leq t)$

Goal: BEST Estimator \hat{X}_t "based on data."

Remark 1, In applications, the continuous observations are

$$H_t = c(t, X_t) + \varphi(t, X_t) \dot{V}_t \text{ --- "white noise", indep of } (U_t) \& X_0$$

In math. $\rightarrow Z_t = \int_0^t H_s ds \Rightarrow (OM)$.

Common practice: $\begin{cases} X_{n+1} = A_n(X_n) + B_n(X_n) U_n \\ Z_n = C_n(X_n) + D_n(X_n) V_n \end{cases}$ (discrete time).
($Z_n \leftrightarrow \frac{dZ_t}{dt}$, abuse of notation)

Remark 2, - the goal in math. \hat{X}_t is G_t^Z -measurable

- BEST in the sense that $\hat{X}_t = \arg \min \{ E |X_t - Y|^2 : Y \in K_t \}$

$$K_t = K_t(Z_t) = \{ Y: \mathcal{B} \rightarrow \mathbb{R}^n; Y \in L^2(\mathbb{P}) \text{ and } Y \text{ is } G_t^Z\text{-measurable} \}.$$

Thm 6.1-2

$$\boxed{\hat{X}_t = P_{K_t}(X_t) = E[X_t | G_t^Z]}$$

Lemma 6.1.1 Let $\mathcal{H} \subseteq \mathcal{F}$ be a σ -algebra and $X \in L^2(\mathbb{P})$ be \mathcal{F} -measurable.

Let $N = \{ Y \in L^2(\mathbb{P}) : Y \text{ is } \mathcal{H}\text{-measurable} \}$ and P_N the orthogonal projection $L^2(\mathbb{P}) \rightarrow N$.

Then

$$P_N(X) = E[X | \mathcal{H}]$$

Proof (based on definition of conditional Expectation).

$$\begin{matrix} \text{! } Z \text{ is } \mathcal{H}\text{-meas} \\ \text{! } Z \text{ st } \int_A Z d\mathbb{P} = \int_A X d\mathbb{P}, \forall A \in \mathcal{H}. \end{matrix}$$

$P_N(X): P_N(X) \in \mathcal{H}$.

$1_A \in L^2$, subspace spanned by $1_A, A \in \mathcal{H}$

$$\int Y(X - P_N(X))d\mathbb{P} = 0, \forall Y \in N \xrightarrow{Y = 1_A, A \in \mathcal{H}} \int_A P_N(X)d\mathbb{P} = \int_A X d\mathbb{P}, \forall A \in \mathcal{H}. \#$$

\Rightarrow explicit soln when linear SSM.

§6.2 The 1D linear filtering problem.

• n-D is similar. (Kalman-Bucy filter.)

$$(SSM) \quad \begin{cases} dX_t = F_t X_t dt + G_t dC_t \\ dZ_t = G_t X_t dt + D_t dW_t \end{cases} \quad \{C_t, W_t\} \text{ Bm. indpt.}$$

Assumption: • F, G, C, D are bdd on $[0, T]$; $\inf_{t \in [0, T]} D(t) > 0$.
• X_0 Gaussian indpt of $\{C_t\}$ & $\{W_t\}$.

Thm 6.2.8 (1D Kalman-Bucy filter) The solu. $\hat{X}_t = \mathbb{E}[X_t | G_t^z]$ satisfies

$$d\hat{X}_t = \left(F_t - \frac{G_t^2 S_t}{D_t^2} \right) \hat{X}_t dt + \frac{G_t S_t}{D_t^2} dZ_t; \quad \hat{X}_0 = \mathbb{E}[X_0],$$

where $S_t = \mathbb{E}[|X_t - \hat{X}_t|^2]$ satisfies the deterministic Riccati Equation.

$$\frac{dS}{dt} = 2F_t S(t) - \frac{G_t^2}{D_t^2} S^2(t) + C_t^2; \quad S(0) = \mathbb{E}[X_0 - \mathbb{E}[X_0]]^2.$$

Proof in 5 steps:

Step 1: $\hat{X}_t = P_G(X_t) = \mathbb{E}[X_t | G_t^z] = P_L(X_t)$: $L = \overline{\{C_0 + G_1 Z_{s_1} + \dots + G_k Z_{s_k}, s_j \leq t, G \in \mathcal{R}\}} \quad L^2(\mathcal{F})$
i.e. the best Z -measurable estimate of X_t is the best Z -linear estimate.

Step 2: Replace Z_t by the Innovation Process N_t :

$$N_t = Z_t - \int_0^t (GX)_s^A ds, \quad (GX)_s^A = P_{L(Z_s)}(G_s X_s) = G_s \hat{X}_s$$

Then: N_t has orthogonal increments: $\mathbb{E}[(N_{t_1} - N_{s_1})(N_{t_2} - N_{s_2})] = 0$, if $s_1 < t_1 \leq s_2 < t_2$

$$\left\{ \begin{aligned} L(N, t) &= L(Z, t), \text{ so } \hat{X}_t = P_{L(N, t)}(X_t). \end{aligned} \right.$$

Step 3: R_t satisfying $dR_t = D(t)^{-1} dW_t$ is a 1D Bm; $L(N, t) = L(R, t)$

$$\hat{X}_t = P_{L(R, t)}(X_t) \stackrel{\Delta}{=} \mathbb{E}[X_t] + \int_0^t \mathbb{E}[X_t R_s] dR_s$$

Step 4 solve X_t from the (SM).

Step 5 3+4 \Rightarrow an SDE of \hat{X}_t .

Proof of Thm

Step 1 Z-linear & Z-measurable estimates.

Lemma 6.2.2 Let $X, (Z_s)_{s \leq t}$ be r.v. in $L^2(\mathbb{P})$ and assume that

$$(X, Z_{s_1}, Z_{s_2}, \dots, Z_{s_n}) \in \mathbb{R}^{n+1}$$

has normal distribution $\forall s_1, s_2, \dots, s_n \leq t, n \geq 1$. (i.e. Gaussian process)

Then
$$P_L(X) = \mathbb{E}[X | \mathcal{G}^Z] = P_K(X).$$

i.e. the best Z-linear estimate for X coincides w/ the best Z-meas. estimate.

Proof: Put $\tilde{X} = X - P_K(X)$. Then $\mathbb{E}[\tilde{X} Z_{s_j}] = 0, \forall Z_{s_j}; \Rightarrow \tilde{X}$ indpt of (Z_{s_j}) .
 \downarrow
 normal $\implies \tilde{X}, Z_{s_j}$ is normal, $\forall s_j \implies \tilde{X}$ indpt of \mathcal{G}^Z .

Then,
$$\mathbb{E}[\tilde{X} 1_G] = \mathbb{E}[1_G] \mathbb{E}[\tilde{X}] = 0, \forall G \in \mathcal{G}^Z \implies P_L(X) = \mathbb{E}[X | \mathcal{G}^Z].$$

$$\mathbb{E}[X 1_G] - \mathbb{E}[P_L(X) 1_G] \quad \#$$

Lemma 6.2.3 $M_t = \begin{pmatrix} X_t \\ Z_t \end{pmatrix} \in \mathbb{R}^2$ is a Gaussian process.

Proof: From the SSM:
$$dM_t = H(t) M_t dt + K(t) dB_t, \quad M_0 = \begin{pmatrix} X_0 \\ 0 \end{pmatrix}$$

 $\mathbb{R}^{2 \times 2} \quad \mathbb{R}^2 \text{-Bm.} \quad M_t^{(0)} \equiv 0$

By Picard iteration,
$$M_t^{(n+1)} = M_0 + \int_0^t H(s) M_s^{(n)} ds + \int_0^t K(s) dB_s, \quad n=0, \dots$$

Thus, $(M_t^{(n)})$ is GP $\forall n$; $M_t^{(n)} \rightarrow M_t$ in $L^2(\mathbb{P}) \implies (M_t)$ is Gaussian

$$\implies P_{L(z,t)}(X) = \mathbb{E}[X | \mathcal{G}_t^Z]$$

Lemma 6.2.4 $L(z,t) = \{ C_0 + \int_0^t f(s) dz_s, f \in L^2[0,t], C_0 \in \mathbb{R} \}$.

Proof: a) RHS $\subseteq L(z,t) =$ closure in $L^2(\mathbb{P})$ of linear combinations.

b) RHS contains all linear combinations.

c) RHS is closed b.c. $L^2[0,t]$ is complete.

Remark:
$$\hat{X}_t = P_{L(z,t)}(X) = C_0(t) + \int_0^t f(s) dz_s \quad \xrightarrow{\mathbb{E} Z_t = 0} \quad C_0(t) = \mathbb{E}[\hat{X}_t] = \mathbb{E}[\mathbb{E}[X | \mathcal{G}_t^Z]] = \mathbb{E} X.$$

Step 2 The innovation process.

Let $N_t = Z_t - \int_0^t (GX)_s^1 ds$, $(GX)_s^1 = P_{L(Z,S)}(G(s)X_s) = G(s) \underbrace{P_{L(Z,S)}(X_s)}_{\hat{X}_s}$

Then $dN_t = dz_t - G(t) \hat{X}_t^1 dt$
 $= G(t) (X_t - \hat{X}_t) dt + D(t) dV_t$

Lemma 6.2.5 (i) N_t has orthogonal increments

(ii) $E[N_t^2] = \int_0^t D^2(s) ds$

(iii) $L(N,t) = L(Z,t)$

(iv) N_t is a Gaussian process.

Proof: (i) If $s < t$, $N_t - N_s \perp N_s$? $\forall Y \in L(Z,s)$

$E[(N_t - N_s)Y] = E\left[\left(\int_s^t G(r)(X_r - \hat{X}_r) dr + \int_s^t D(r) dV_r\right)Y\right]$

$= \int_s^t G(r) E[(X_r - \hat{X}_r)Y] dr + E\left[\int_s^t D(r) dV_r Y\right] = 0$

$= 0 \quad X_r - \hat{X}_r \perp L(Z,r) \supset L(Z,s)$

V has indep increments
#

(ii) Ito formula with $g(x) = x^2$:

$dN_t^2 = 2N_t dN_t + \frac{1}{2} 2 D(t)^2 dt \quad \Rightarrow \quad E[AB] = 0$

$E N_t^2 = E \int_0^t 2N_s dN_s + \int_0^t D(s)^2 ds$

$= 0 + \int_0^t D(s)^2 ds$

$\int_0^t N_s dN_s = \lim \sum N_{t_i} (N_{t_{i+1}} - N_{t_i})$

$\Rightarrow E \int_0^t N_s dN_s = 0$

(iii) clearly, $L(N,t) \subseteq L(Z,t)$. Need the opposite direction: $Z_t \stackrel{??}{=} \omega(t) + \int_0^t f(s) dW_s$?

By Lemma 6.2.4: $(GX)_r^1 = c(r) + \int_0^r g(r,s) dZ_s$, for some $g(r,\cdot) \in L^2[0,r]$, $c(r) \in \mathbb{R}$.

Then, $\int_0^t f(s) dN_s = \int_0^t f(s) dZ_s - \int_0^t f(r) (GX)_r^1 dr$

$= \int_0^t \left[f(s) - \int_0^t f(r) g(r,s) dr \right] dZ - \int_0^t f(r) c(r) dr$

Theory of Volterra integral eq: $\forall h \in L^2[0,t], \exists f \in L^2[0,t], s.t.$

$f(s) - \int_0^t f(r) g(r,s) dr = h(s)$

Let $h(s) = \mathbb{1}_{[0,t_1]}(s)$, $0 \leq t_1 \leq t$, then $\exists f$ (depending on t_1):

$\int_0^t f(s) dN_s + \int_0^t f(r) c(r) dr = \int_0^t h(s) dZ_s = Z_{t_1}$ #

(iv): clear.

Step 3. The innovation process and Bm.

Fact: $R_t = \int_0^t D(s)^{-1} dN_s$ is a Bm.

(Proof: $dR_t = \frac{1}{D(t)} dN_t = \frac{1}{D(t)} G(t) (X_t - \hat{X}_t) dt + dV_t$

(i) cts path; (ii) orthogonal increments (since N_t has)

(iii) R_t is Gaussian; (iv) $IE R_t = 0$, $IE [R_t R_s] = t \wedge s$.

$$dR_t^2 = 2R_t dR_t + dt \Rightarrow IE R_t^2 = IE \int_0^t 2R_s dR_s + t = t.$$

$$IE [R_t R_s] = IE [(R_t - R_s) R_s] + IE [R_s^2] = s.$$

Lemma 6.2.7. $\hat{X}_t = IE[X_t] + \int_0^t \partial_s IE[X_t R_s] dR_s$ (*)

Proof: $L(N,t) = L(Z,t)$ and Lemma 6.2.4 $\Rightarrow \hat{X}_t = G(t) + \int_0^t g(s) dR_s$, $g \in L^2[0,t]$, $G(t) \in \mathbb{R}$

$L(R,t)$ $\cdot G(t) = IE[\hat{X}_t] = IE[X_t]$

$\cdot X - \hat{X}_t \perp \int_0^t f(s) dR_s, \forall f \in L^2[0,t] \Rightarrow$

$$\Rightarrow IE[X_t \int_0^t f(s) dR_s] = IE[\hat{X}_t \int_0^t f(s) dR_s] = IE[\int_0^t g(s) dR_s \int_0^t f(s) dR_s] = \int_0^t g(s) f(s) ds, \forall f$$

$f(s) = 1_{[0,t]}(s), t \leq t \Rightarrow IE[X_t R_t] = \int_0^t g(s) ds \quad \text{ie: } g(r) = d_r IE[X_t R_r]. \quad \#$

Step 4: Explicit soln. for X_t from the SM:

$$X_t = e^{\int_0^t F(s) ds} X_0 + \int_0^t e^{\int_s^t F(u) du} C(s) dU_s;$$

$$X_t = e^{\int_r^t F(s) ds} X_r + \int_r^t e^{\int_s^t F(u) du} C(s) dU_s.$$

$G(t) = IE X_t = e^{\int_0^t F(s) ds} IE X_0.$

Step 5: SDE for \hat{X}_t : $\hat{X}_t = IE X_t + \int_0^t f(s,t) dR_s$

$\cdot f(s,t) = \partial_s IE[X_t R_s].$

To do: explicit expression for $f(s,t)$: $R_s = \int_0^s \frac{G(r)}{D(r)} (X_r - \hat{X}_r) dr + V_s$

$$IE[X_t R_s] = \int_0^s \frac{G(r)}{D(r)} IE[X_t (X_r - \hat{X}_r)] dr + 0 \quad \leftarrow (V_s) \text{ indep. of } X_t \in \{U_s\} \text{ and } X_0$$

$\cdot = IE[e^{\int_r^t F(u) du} X_r \hat{X}_r]$ $\leftarrow (U_s) \text{ indep. } X_r, G_r \Rightarrow \hat{X}_r$

$X_r - \hat{X}_r + \hat{X}_r \Rightarrow IE[X_r \hat{X}_r] = IE[\hat{X}_r^2] = S(r)$

$$= \int_0^s \frac{G(r)}{D(r)} e^{\int_r^t F(u) du} S(r) dr$$

$\Rightarrow f(s,t) = \frac{G(s)}{D(s)} e^{\int_s^t F(u) du} S(s).$

Claim: $S(t)$ satisfies the deterministic ODE.

$$S'(t) = 2F(t)S - \frac{G^2}{D^2} S^2 + C^2$$

Proof (basic.)

SDE for \hat{X}_t : $d\hat{X}_t = C_0'(t)dt + f(t,t)dR_t + \left(\int_0^t \partial_t f(s,t) dR_s\right) dt$

$$\int_0^u \int_0^t \partial_t f(s,t) dR_s dt = \int_0^u \int_s^u \partial_t f(s,t) dt dR_s$$

$$= \int_0^u [f(s,u) - f(s,s)] dR_s$$

$$f(t,t) = \frac{G}{D} S(t);$$

$$\partial_t f(s,t) = \frac{G}{D} S(s) F(t) e^{\int_s^t F(u) du} = F(t) f(s,t)$$

$$= \hat{X}_u - C_0(u) - \int_0^u f(s,s) dR_s$$

$$\int_0^t \partial_t f(s,t) dR_s = F(t) \left[\int_0^t f(s,t) dR_s \right] = F(t) [\hat{X}_t - C_0(t)]$$

$$= C_0'(t)dt + F(t) [\hat{X}_t - C_0(t)] dt + \frac{G}{D} S(t) dR_t \quad C_0'(t) = F(t) C_0(t)$$

$$= F(t) \hat{X}_t dt + \frac{G}{D} S(t) dR_t$$

$$\downarrow dR_t = \frac{1}{D(t)} [dZ_t - G(t) \hat{X}_t dt]$$

$$\Rightarrow d\hat{X}_t = \left[F(t) - \frac{G^2}{D^2} S(t) \right] \hat{X}_t dt + \frac{G(t)S(t)}{D^2(t)} dZ_t.$$

#

Example 6-29 (Noisy observation of a constant process)

$$\begin{cases} dX_t = 0, & X_t \equiv X_0, & \mathbb{E}[X_0] = \hat{X}_0, & \mathbb{E}[(X_0 - \hat{X}_0)^2] = a^2 \\ dZ_t = X_t dt + m dV_t, & Z_0 = 0, \end{cases}$$

$$H_j = X_t w_j$$

$$\Leftrightarrow H_t = \frac{dZ_t}{dt} = X_t + m V_t$$

• Riccati equation for $S(t) = \mathbb{E}[(X_t - \hat{X}_t)^2]$:

$$F \equiv 0, \quad C \equiv 0$$

$$\frac{dS}{dt} = -\frac{1}{m^2} S^2; \quad S(0) = a^2$$

$$G \equiv 1, \quad D(t) \equiv m.$$

$$\Rightarrow S(t) = \frac{a^2 m^2}{m^2 + a^2 t}$$

$$\leftarrow \int s^{-2} ds = -\frac{1}{m^2} dt$$

$$d\hat{X}_t = -\frac{a^2}{m^2 + a^2 t} \hat{X}_t dt + \frac{a^2}{m^2 + a^2 t} dZ_t$$

$$\int -(S^{-1})|_0^t = -t/m^2$$

$$\int -S(t)^{-1} = S(0)^{-1} - t/m^2$$

$$\Rightarrow \hat{X}_t = \frac{m^2}{m^2 + a^2 t} \hat{X}_0 + \frac{a^2}{m^2 + a^2 t} Z_t, \quad t \geq 0.$$

$$\int S(t) = \frac{1}{S(0)^{-1} + t/m^2} = \frac{a^2 m^2}{a^2 t + m^2}$$